(DENG 1)
ASSIGNMENT -1

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, MARCH 2023.
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(b)

First Year

ENGLISH PAPER -1
MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

Read the following passage and answer the questions :

The diversity of India is tremendous. It is obvious; it lies on the surface and anybody
can see it. It concerns it self with physical appearance as well as with certain mental
habits and traits : There is little in common, to outward seeming, between the Pathan
of the North-West and the Tamil of the far South. Their racial stocks are not the same,
though there may be common strands running through than; they differ in face and
figure, food and clothing and of course, language — yet with all these differences, there
1s no mistaking the impress of India on the Pathan, as this is obvious on the Tamil.

(i) How can you say the diversity of India is obvious?

(i1) The Pathan and the Tamil look alike outwardly, true or false?

(i11) Are the racial stocks of the Pathan and the Tamil entirely different?
(iv) What is common to both the Pathan and the Tamil?

(v)  List the aspects in which the Pathan and the Tamil differ?

Read the passage and choose the right answer :

Fred opened his parcel and laid the books out on the counter. “I don’t pretend to know
much about books”, he said. I have had these for years, and I haven’t even read them.
My grandfather left them to me, as a matter of fact. But my wife never stops
complaining about them. She says they make the house look dirty. So I thought I would
bring them in to show you, just in case there is anything of interest.

(i) What did Fred open?

(1) book (2) counter
(3) parcel (4) house
(i1)) Who brought the parcel of books?
(1) Fred (2) Grandfather
(3) Grandmother (4) Wife
(i11)) Fred reads a number of books
(1) No (2) Yes
(3) Very few (4) Too many
(iv) Who left those books to Fred?
(1) Wife (2) Grandmother

(3) Grandfather (4) Himself



(v)  Why did Fred bring those books to that shop?

(1) sell (2) donate
(3) preserve (4) wife objected them to be at home
2. (a) Correct the following sentences :

(1)  One of my teachers belong to my village.
(i1)) Neither Ram nor Rahim have gone to the cinema.
(i11) A pair of gloves are lying on the floor.
(iv) Each of the boys were rewarded.
(v)  Economics are a good subject to study.
(b) Rewrite as directed :
(1) The team won the match (Change the voice).
(1) Whoever is honest is respected. (Change into a simple sentence)
(111) Peas are as nutritious as meat. (Change to comparative)
(iv) He said to me, “You alone can save her”. (Change into indirect speech)
(v)  We can prove that the Earth is recend. (Change to compound)
(¢) Change into direct speech :
(i) The peon denied that he had broken the glass.
(i1)) He told me that he was happy to be there that evening.
(d) Fill in the blanks with correct forms of the verbs in the brackets :

(i) He often ———— (go) to the Church.
(i1) She —— (play) chess well.
(i11) Remeo —————— (fall) in love with Juliet at first sight.
(iv) Try to ——— (save) a part of your salary.
(v) If he —————— (go) early, he can catch the bus.
(e) Fill in the blanks with suitable words given at the end :
(1) Some one has ——————— my pocket.
(i1) The thief was
(i11) Iwas —— to go.

(iv) Promises should be
(v) Shakespeare wrote many
plays, caught, picked, kept, obliged.
() Rewrite the following jumbled sentences into coherent passage :
(i) He had many brothers.
(1) When the old king died there was fighting between the brothers for the throne.
(i11)) Ashoka was born in the ruling Maurya family of Magadha.
(iv) Ashoka was able to defeat the brothers.

(v) He was valiant and courageous.
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(g) Write three exchanges between a receptionist in an office and a client for an
appointment of the manager.

(h) Write a paragraph using the hints :

Morning walk — good — young and old — refresh mind — makes us smart — active — light
exercise — see nature — birds fly — nature watch — leaves, flowers — ponds — canals — full
of water — sweet music — regular walk.

(1)  Write in about 100 words on any one :
(1) Environment pollution
(i1) Sports —importance
(i11)) School life.
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. Write an essay on the following:

Write a note on Magda and her family.
Summarize Churchill’s speech.

Give a character sketch of Dasa, the servant.

. Write short notes on the following:

What is Edmund’s Waller’s opinion about women in Go, Sovely Rose?
How does Wordsworth describe the Sun in ‘The Tables Turned’?

Give the two concepts that are personified by Edger Allan Poe?

How does the train symbolise the progress of mankind?

How does John Masefield persuade the reader to laugh and be merry?

. Write an essay on the following:

Narrate Karel Capak’s ‘The Fortune — Teller’.
Briefly explain ‘The Gold Watch’.

Discuss Malgonkar’s ‘Lemon; Yellow and Fig’.

Explain the following:

(1) To a large extent circumstances and world happenings control our lines today.
(i1) The people are never close to the ground.

(11) Come then, let us go forward together with our united strength.

Explain the following:

(1) Home is where we have to gather grace.

(i1) In the dear green earth, the sign of the joy of the Lord.
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ASSIGNMENT -1
B.A./B.Com./B.Sc./.BHM/BBA/BBM DEGREE EXAMINATIONS, MARCH 2023.
First Year

SANSKRIT PAPER — I (NR)
MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

IR TSY Yo fedrfa aofera|
Explain the conditions of the people in the Kingdom of Dasaratha.

HETeHAT el qEe 1 1 @sont afvfari? qrt 300 frauey foasread|

What are the qualities of the foolishmen as described by the noble Vidura. Write in
300 words.

AUIE=T qreidi gfd SAfeeTe =T auierd |

Describe the speech of the celibrate to Parvati who was doing penance.

IIGTHANTHAY T TSR ﬁ‘ﬂ@ﬂl

Describe the six seasons according to the prescribed portion.
TSFTETAl fgapfd fomua|

Explain the favour dowe to the brahmin by Rajavahana.
Harssiiad AR foed|

Write the story of Mrtojjivanam.

Answer the following with reference to context:

gy =reTd|

(a)
(b)
(©)
(d)
(e)
®
(8
(h)

T I STHTh SHaaed |
AT LEATHIAT A0 e |
ERREPEECE GG
IR T e |
TR | Jaafona|
a1 e gAvATSAHT: |

Tia | ANISHS JogEnd: |
aedel fagAm TsE 2R
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First Year

SANSKRIT PAPER — I (NR)
MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

1. Translate into English or Telugu:

STFHHTYRT 1 STSTANTNRT &7 3AJaed |

(@)

(b)

(©

(d)

2. (a)

(b)

A o WS R
SATHM Fad T&ERY g4ty ||

e g S ek gamgfim |
Fgfordivial 2t dgd, g gaerm ||
T HETiel S emtetagadd |

wmcd guiid 7 ¥ 3 ufvred 3=

X faafa S gaum: TR e
IT FHEIIHIH: § = qgaul T ||

Write the forms in the other numbers of given persons:

ToahNy, aTgeuTYl foed|
() TR

(i) fosaal

(iii) TR

(iv) @l

(v) yTNEay|

(vi) A&

Decline as per the case ending.

qafgurRy YegEaTol forad|
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(©)

(d)

(i) W

(i) fogl

(i) |

(iv) =g

(v) agImH|

(vi) el

(vii) arfom|

(viii) T
Combine sandhis :
4|

() =Y + G|
(i) T + 3
(i) & + 38T
(iv) d + &
(v) W +HE:

(vi) Ta: + SEfdl
(vi)) T + Tesi|
(viil) i + Tl

Dissolve:-
foprgaTeR foed -
() eI

(i) T

(i) W)

(iv) ETET: |

(v) e

(vi) <TSRUL:|
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A B AT U ?
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(b)

é@f@qﬁﬁimﬁ|
g T
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(a)
(b)

JATGHT =T S|
T HT F3AT|
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MAXIMUM : 30 MARKS
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ASSIGNMENT -1
B.A./B.Sc. DEGREE EXAMINATION, MARCH 2023.
First Year

Mathematics

Paper I - DIF. EQU., ABS. ALG. AND VEC. CALCULUS
(Common for B.A./B.Sc.)

MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

Solve (x2 +1) 9y + 4xy =
dx x2 +1

(x2+1) % + 4xy = 50 DBoHod.

x“+1

Solve y = 2px - p?
y =2px — p? H0 ;BoHos.

Solve (D? +4)y =sin2 x
(D? +4)y =sin2 x S0 BoHos.

Solve (D? —4D +4)y = x°
(D% —4D + 4)y = x® 30 BoHod.

Prove that, in a group G, identity element is unique.
WHACTH0 G S° BB YD HorOEHN IFEHD DETV0VOE.

Prove that, if H is any subgroup of a group G, then HH = H .
DBATPTH G S° H 3950775500 @00d HH = H @9 957700508,

Prove that Ir.NdS’ =3V.
S

j r.NdS = 3V 9 9579050&.
S

If ¢(x,y,2) = x>+ y> + 3xyz then calculate V¢
#(x,y,2) = x%+ y3 + 3xyz ©@00d Vg o 5260562;0&.
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First Year

Mathematics

Paper I - DIF. EQU., ABS. ALG. AND VEC. CALCULUS
(Common for B.A./B.Sc.)

MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

1. (a) (i) Solve (x+2y3)ﬂ =y.
dx
(x +2y3)ﬂ =y %0 >Bodod.
dx
(i) Solve (x2 —dxy—2y%)dx +(y% —dxy—2x2)dy =0.
(x% —dxy - 2y%)dx + (v% —4xy - 2x%)dy = 0 D0 BoHod.

(®) (@) Solve p’y+(x-y)p-x=0.
p2y+(x —y)p—x =0 30 dBoHok.

(i) Solve y?logy=xpy+pZ.
y2logy = xpy+p? 90 FBoHod.

2. (@ (@) Solve(D?>+3D+2)y=e" +cosx.
(D% +3D+2)y=e"" +cosx 50 dBoHod.

(i) Solve (D?+4)y=xsinx.
(D? +4)y = xsinx 50 Bodod.
() (1) Solve (D? +a?)y =cosax by the method of variation of parameters.
DTBOO HI°EY DY BHIIBIA0Y (D? +a?)y =cosax H0 BoHos.

(i) Solve (x?D? —xD+1)y =logx.
(x2D* —xD +1)y =logx X0 »Bodod.

3. (@ (@) Find the order of each element of the multiplicative group
G:{ly_lyiy_i}

G={1-1i,-i} & KBS TS (D8 Joreso BwE), HEHED
§508%,06.
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(1) If Hand K are two subgroup of group G, then show that is HK is also
a subgroup iff HK = KH

DB G St HH08050 Koo 306 &d0darstey eond HK
EIVDITPTPAN 329608 HK = KH 93038 eﬁéé§§ s ‘;)U"gg DOZINODN @D

BIrH0AE.

(b) (1) State and prove Lagrange’s theorem.

B o ?ocgo@‘b& (DHV0D DEITDONOE.

(1) If G is a group and H is a subgroup of index 2 in G . Then prove that
H is a normal subgroup of G.

G 28 90770 208050 G S° H &959505°r0 eond H BWE); WrDE 2

©on® G S° H e9002) &I0505°r0 e HI°008.

@ () Find Vg if¢=%
¢=% ®0d Vg D0 05708,
(i) If A=(sint)i+(cost)j+tk; B=(cost)i—(sint)j—3k, C=2i+3j—k
then find %[AX(BXC)] att=0.
A =(sint)i+(cost)j+tk;  B=(cost)i —(sint)j—3k, C=2i+3j-Fk

©ond =0 H¢ %[AX(BXC)] 50 E508%,08.

(b) (1) State and prove “Gauss’s Divergence theorem”.

™R @938 VEToTRY (DD AETDOPH0G.

(i) Verify Stokes theorem for A = (2x — y)i —(yz2)j - y*zk , where S is the
upper half of the sphere x? + y% + z% =1 and C is its boundary.
S @38 Ao x? +y” +27 =1 B, P &DBB0 VN0 D80S C &R
%wgeo WOIYPE  A=(Q2x-y)i —(y22)j-y"zk I P8

?ozgoé:éoo?éo VBIIE0G.
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ASSIGNMENT -1
B.Sc. DEGREE EXAMINATION, MARCH 2023.
First Year
PHYSICS I — MECHANICS, WAVES AND OSCILLATIONS

MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

State and prove vector’s Gauss Theorem.

BB R DONHIRY DELDOD, GTHB0WDIDN.

Describe about motion of a rocket.

0865 HDoT°R) DHB0WID.

State and prove Kepler law’s.

396 DAHTeL BOY, 2008rR) DASBY.

Describe about Michelson-Morley experiment.

WESVS-ITB (BT 9HBoWHos.

What is simple harmonic motion? Describe about simple harmonic oscillator.

K)CSQS‘&PU"é&§ HOH0 OIMIN? VEY ‘;Pcr’é&é &o¥o K8y DHBoBoHw.

What are forced oscillations? Derive differential equation for it.

QB VB E'omrer @RMmAN? 708 WowoB0odR VWELE0 &B*)BoWIHX.

Describe about modes of vibration of stretched string clamped at the ends.

B0k DHSODROD FHBVD BoBS® YT &V KodTreRd K178y dHB0oVosk.

Describe about piezoelectric method of production of ultrasonics.

DE-D5S ¢ AS® 9V EOK &B)Q DD P00 BOoYHW.

Define curl of a vector and explain its significance.
2B% 50 DD, BrERgd BOOYDD.
Describe about Gyroscope.

03_6'6 rbﬁbfo K3°8y DHBoBOBW.

Describe about classification of beams.
SIOHNOD K328 7B N0WIDD.

What is length contraction?

DotsD) DOETH0 D TRN?

(DSPHY11)
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ASSIGNMENT -2
B.Sc. DEGREE EXAMINATION, MARCH 2023.
First Year
PHYSICS I — MECHANICS, WAVES AND OSCILLATIONS

MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

Describe about Lissajou’s figures.

9270 Derd0eD K°By DHBoHos.

Evaluate the Fourier coefficients.
DEBASD K0er5P0R00 EHON KD,

What is transverse impedance?
BG5S 20VBR) BITBD?

What are the applications of ultrasonics?

OB FG00 B0D g TPO0 BOVYDN.

Prove that curl (grad ¢)=0.
88 (& ¢) = 0 @0 HoYH0.

A rocket burns 0.01 kg fuel per second ejecting it as a gas with a velocity of 12,000 m/sec.
What force does the gas exert on the rocket?

0.01 kg Q0G50 DEDE H00eHN) 2.8 o°3eS BaE); TAS0Y) aa?mgé?fmo 12,000 m/sec. €900
07345 DD DY TPOINY) 2©0 o ?

The modulus of rigidity of the material of the wire is 2.0 x10" N/m ?. The Poisson’s ratio is
0.25. Find Young’s modulus of material of wire?
2.8 &1 By, X)wg SyEee K880 2.0 x10" N/m % . o Sronerd DS 0.25. &K ‘Zowgo B8,

O500R K350 EHORCHIDN.

If the radius of the earth around the Sun is tripled, find the new time period?
gI°0 BE); m;@vgo ‘&17"6358) m;@vtg;:oé 3 6@3 &083 &9:56_50;651’@0 D0 ?

A rod 1.0 m long is moving along its length with a velocity of 0.5 C. Calculate the length as it
appears to a stationary observer?

1.0 & D) EORD gé oD D) dowd 0.5 C N0 BT &b, %) z\g@esﬁ &) w8
DB30LID DEOMT TR otED) EHIRHIHN.
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11.

12.

What is the velocity of a particle if its energy is 4 MeV and its rest mass M, =3.33 x10 " gm .
Do 15DH50°8 M, =3.33 x10 7 gm Ko 2.8 Eea0 Boog); ¥8 4 MeV @0055° od 310 Jo&?

A body of mass 0.5 kg is in SHM if its displacement is 0.5 m then find its acceleration and
the restoring force acting on it?

0.5 kg ($550°8 EORD D8 Troodp¥ Ho508" &) HWNN) FIROF0 0.5 m ©oB TR H¥eao
08050 TP DOVD YIsL DL 200 EIE0d.

0.5 m long steel wire is vibrating with a frequency of 512 Hz. If its diameter is 1 mm and
density 7860 kg/m3, then find the tension.

0.5 m ¢ DoBos» 1 mm U"g&)o D803 7860 kg/m3 dro|8S Ko %))Q)JQ%K 512 Hz @?63‘@)?650956
EoDY SIS’ BH5H EHORTHDD.
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ASSIGNMENT -1
B.A./B.Sc. DEGREE EXAMINATION, MARCH 2023.
First Year

Part II — Computer Science
Paper I - PC SOFTWARE AND PROGRAMMING IN C

MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

What is a Digital Computers? Explain the logical organisations of a digital
computer.

Digital Computers edmad0? Digital Computer &8, Logical organisations
10809 [F*A%006.

Explain the steps involved in mail merge in MS-Word.
MS-Word &° mail merge EDN) steps B0 [Ea0G.

What is database? Explain the concept of creating a table and creation of a form.
Database @3m3? 00 &HBI°RoD table and form X080d 000G

Explain the different storage classes in ‘C'.
‘C S° 93¢ Szee storage classes K080 [T°000E.

What is Pre-processor? Explain the different
Pre-Processor commands.

Pre-processor @drmadn? 99¢ §5°0 Pre-Processor commands 0809 [3°03008.

What is an operating system? Write the various I/O devices?
0.S. @35 0?2 99 Esee 1/0 devices 705008

Explain the features of MS-Powerpoint.
MS-Powerpoint &), features (o0&,

Explain any five Mathematical functions in
MS-Excel.

b@_a" ©¢> Mathematical functions MS-Excel &° 5°0%008&.

Explain different data types in “C”.
“C” &° data types [°0500&.

Write a C program to print Armstrong number.

C program to print Armstrong number [@°a500&.
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ANSWER ALL QUESTIONS

Explain Bit-wise operators and enumeration types.
Bit-wise operator e 3207 enumeration types [@°a500&.

Explain I/P devices.
I/P devices 57 307?

Explain Header and Footer.
Header and Footer e 30?

Explain Form and Sorting.
Form and Sorting e d207?

What is Array with example?
Array e J20? Example [@rasood.

What is String? Explain string reverse and string length.
String e 30? String reverse, length [Feos00é.

Explain structure with example.
Structure edm 320? Example [@eosood.

Define Operating system.
Operating system e D02

Explain Assignment operators.
Assignment operators e 307?

Explain My Computer in Windows 98.
My Computer Windows 98 9:580%08&.

What are the features of MS-Excel?
MS-Excel &B3¥); features [°05006.



